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(1) fFE=EH

© FEAtE
7 AR vA2lL) A AL O HTHT
No. m A 4 ik (M /nt) HuRE No. T 4 i (M9 /i) Hh
1 it 7 115, 000 61 1 JIAR AT 11, 900 4
2 57K HT 112,900 3 2 VAW T 16, 200 4
3 RIRET 106, 100 4 3 P Gt ELRT 16, 900 2
4 =T 105, 500 10 4 {r[ L HT 25, 400 2
5 & P T 94, 900 5 5 I 26, 300 3
6 HEE T 86, 300 25 6 Al BT 26, 600 2
7 YR T 75, 700 8 7 ARET 29, 700 2
8 FEOET 67,900 7 8 PagtEHT 30, 000 4
9 (il i) 67, 700 10 9 Liord it 34, 600 3
10 B 65, 300 34 10 G 35, 100 3

@ FHEEE
7 Ar DR A THL O HTHT
N | mer s | zEEw e | B N | g | zBE (%) | B
1 RIRET 1.1 4 1 T IR T A 3.9 2
2 = 0.6 10 2 PEOtEHT A 37 4
3 & P T 0.3 5 3 e A 31 7
4 il A A 0.1 10 4 A T A 3.0 2
5 5K ET A 0.2 3 5 BEHEE T A 2.8 15
6 e A 0.3 7 6 THEE T A 2.8 25
7 BT A 0.4 16 7 Moz R A 2.7 3
8 i A 0.4 3 8 TRl T A 2.6 4
9 FEOET A 0.5 7 9 JIARAHT A 2.5 4
10 T A 0.7 2 10 Ve T A 22 6
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(2) PaZEH
O SEEflkk

7 ENLodiEy A TALOHHET

No. T 4 i (F/of) iR No. T 4 i (F/of) iR
1 e e 282, 200 31 1 T RITIRT T 27, 000 1
2 = 202, 800 4 2 JIARASHT 27, 500 1
3 TBHET 176, 100 8 3 = HAT 34, 800 1
4 &K ET 136, 000 1 4 ZRHT 40, 400 1
5 FIRMT 134, 000 1 5 Yz R 41, 100 2
6 /N 130, 900 31 6 (AT HE AT 43, 400 1
7 G 120, 000 1 7 Pt 50, 400 3
8 B 116, 900 3 8 NIy 51, 000 1
9 P P 1T 111, 000 1 9 o T 51, 600 1
10 T T 97, 000 1 10 T T 56, 500 1

7 ENLodiEy A TFALOHTET

No | 7 OAT 4 rwE (%) | No | 7 oAT 4 o (%) |
1 =B 0.4 4 1 7 mHT A 7.9 1
2 e e 0.2 31 2 et A 59 2
. HEEFT 0.0 1 3 TBHET A 3.6 8

P FE AT 0.0 1 4 L o) i) A 3.5 2

5 AT 0.0 30 5 N ot A 3.4 1
6 Bt A 0.2 3 6 EF e A 3.0 1
7 JIARASHT A 0.4 1 7 =5 T A 25 4
8 T A 0.4 3 8 T A 22 5
9 FEOET A 0.5 3 9 BT A 2.1 6
10 JEREL T A 0.6 5 10 e A 20 1
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